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(F) f(x) = sinx TR (@ FS?
[What is the range of the function f(x) = sinx?]
T : f(x) = sinx TR @8 L [-1, 1)
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('*’f) lim xsmitﬂ?[ﬂﬁw
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lim 1
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[Define the limit of function using (8 — €).]

Tew : Taw : 1% @ @Al € > 0 9T T e GF TR ST S @S
IR § > 0 V= AE @, |x - a] <6 = [f(x) - | <e T AF | &

F(x) @7 T I W GR m{:fiaﬂxp,’wmwww

(9) x-S CFI 0T & f(x) = = TR o ware

=1

[Find the value of x at which the function f(x) = is not

3
x -1
continuaus?]

E‘ea':x:lﬁﬁc@f(x):ﬁtﬁnwﬁwﬁmw:

() f(x) = tanx FRATTR f/(x) G 5T fRT 74 |
|Write down the first principle of f(x) for the function f(x) = tanx.]|

|What is the nth derivative of y = ¢™?]
Taa:y,=—a"e™
(®) =@ =i+ Toriicara I wre |
|State the mean value theorem.]
Taw : 7 y = f(x) FRHAF [a, b] IF (TS A= AR (a, b) &
IRMTE SRAFATAIN TW OF TFS A6 AT ce(a, b) NS ANA,

Wl’(f:hﬁg—:‘gﬂ.

(&) J X — a’dx GF T FS7
2 .2 2
Teq : J“‘sz — a’dx? :3@ = % In (x +/x*—a) + C.
) ﬁ f(x)dx = nJ: F(x)dx QST 1S @1 |

T&d : 7MW f(a+x) = f(x) TN SE@ ﬁf{x)dx= nﬁ f(x)dx.
(48) Astroid-93 AAIIT @1 |

[Write down the equation of Astroid.]
TeT 1 x4y =g,
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X, W Och‘.IZ— [Find the maximum and minimum values of f(x) = x* — 6x* + 9x + 5.]
Jx)= % T4 x:% (%) jtan"x aaﬁmquﬁﬁcfawlwsﬁajmn‘xﬁﬁwm

I -x; T4 %(xsl So | (F) Tt ¥ arel AM&S y* = 12x ARGCET O Wy o )

[Find the are length of y* = 12x cut off by latus rectum.
© 1 W x = cos\y T, O OTAM8 @, (1 - x2)y2 — xy1 — 2 = 0.

1
[If x = cos\fy theh show that, (1 - x?)y, — xy; -2 =0.] (¥) = g : —[UKB (1-x)*dx.
81 me,x=$ﬂ§szln(%)-@§mWW|

Show that x*In 1 1s maximum for x = L.
e

4 2 - 2
€| N TN : (F) J‘ﬁdx (D J-% sec” xdx ]

[Integrate : (a) J<\E+4+—ldx (b) x_‘iﬁ—%ﬁ sec’ xdx.]
b1 x4yt =49 Jafoq s T o
[Find the perimeter of the circle : x* + y* =49.]
s+ Rrept
QCITC 12T eres Baq wie— %0 X =230
Sx-4; TIT 0<x<1
9 f(x)= 4xP-3x; T l<x<2
Ix+4; AT x22

FIHAD x = 1 IR 2 RATS SRRSO -1 8 79 |
b1 (F) FRAcea Saems 3 e e 39 |

[State and prove Leibitz's theorem.]

(¥) y=cos(ax + b) T @AS @, y,=a" cos E+ax+b )
y ¥ 2

[If y = cos(ax + b) theh show that, y, = a" f;:()s('n:,‘—fr +ax+ h).

51 (F) f(x)=x"-6x>+9x + 5 qq AMGDAW 8 Afapae e =)
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